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Exam Style Questions

Finding the midpoint
of two numbers

Corbettmoiths

You may use tracing paper if needed

Ensure you have: Pencil, pen, ruler, protractor, pair of compasses and eraser

k.

Guidance

1. Read each guestion carefully before you begin answering it.
2. Don't spend too long on one question.
3. Attempt every question.

4. Check your answers seem right.

5. Always show your workings

-

Revision for this topic
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Work out the number that is haliway between 20 and 70

204 70= 20

Work out the number that is haliway between 11 and 37

N+ 3#=ué
48 +L =24

Work out the number that is haliway between 125 and 275

AS+2FS 400
lwa-}l c 200

Work out the number that is haliway between 1.9 and 2.7
4423 =46
4-(+1 =23

Work out the number that is haliway between 4.2 and 5.8

42+5-F =10
1052 =5
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Work out the number that is haliway between 3.9 and 4.8

39+4-8: 8.7
8752+ 4.3

Work out the number that is haliway between -3 and 7
“%472:U
472 =%

Work out the number that is haliway between -15 and -2
12717 -85

Work out the number that is haliway between —10 and 25

-lo+ 2S5 < 15
jse1=25

Work out the number that is haliway between 1.15 and 5.24

(154626 - §31
|5 [(-3922=23. 195
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Work out the temperature which is halfway between —-3°C and 7°C

-3y 3 ¥
u%lf?_

Write down the number that is halfway between 1.6 and 1.7

.6+ 1-F =33

Caroline says that 20% is halfway between 10% and ¥ -
Is Caroline correct? ) 7s
You must explain your answer.

|okL()t?O
20+1 = 35

Jason and Gary think of two different numbers.
The midpoint of the two numbers is 23.
Jason says his number is 9.

What number is Gary thinking of?

)3%2 =44
vl -9z 3% 3%



Wendy and Sally think of two different numbers.
The midpoint of the two numbers is 12.5
Wendy says her number is 5

What number is Sally thinking of?
fd-5¥1 =

as-5=%0 .. 0.
(2

Alison has £1.40
Scott has £2.90

How much should Scett give Alison so that they will have the same amount
of money?

2.00 + L 4o = £%30
Z4-30 T2 215

Fgrdo -guls <#sp ¥ 5.

Judy has £12.30
Max has £25.20

How much should Max give Judy so that they will have the same amount
of money?

25.20 + 12.30 =3#-50
3750 T = A8 15
#1520 Fo45
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